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Menofiya University Final Exam

Faculty of Commerce 2" Year
The English Section Time: 2 Hours
Course: Statistics Date: 9/6/2015

Answer the following questions:

First question: (5 marks)
1- Define each of the following:
a) Population. b) Sample.
¢) Descriptive statistics. d) Inferential statistics.

2- Let the following frequency distribution:

Age (years) Frequency
10— 3
20— 14
30— 16
40 - 11
50— 4

60 up to 70 2

a) Determine the mean, median and mode.
b) About how many employees between 25 and 45 years.

Second question: (5 marks)
1- The following stem-and-leaf display reports the number of orders received per day by

the Northwest Regional Office of Oriental Trading Co., Inc.

Stem | Leaf

0 1 2 3

1 2 3 4 5

2 t 9 3 4 5 § T T 8 9 A4
3 i 2 8 @& 5

4 3 3 4

a) How many days were studied?

b) What are the smallest value and the largest value?
¢) List the actual values in the second row.

d) What is the median value?

2- Let the two frequency distributions:

Age (years) Frequency Income $ ‘Y Frequency
15— 18 10— 6
20— 32 20— 17
25— 22 | 30— 43
30— 18 J 40— 26

35 up to 40 10 50upto 60 | 8

a) Compute the mean and the variance.
b) Compare the relative dispersion in the two distributions.
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Menofiya University
Faculty of commerce

Subject: Mathematics of Investment May Exam 2015
Second Year Time 2 Hs

Answer the following questions: (write all details of values in equations)

1- A car can be purchased for LE 225000 cash, or for 10% down and 72 equal monthly payments at

consumer interest rate 9% p.a. Find the deference between the effective interest rate using Arland
the effective interest rate using the approximate equation.

2,
Where approximation of effective rate =  -=---- >
n+ 1 ‘ n-3m+ 2

: ool i

n 3m

2- On 2nd of June 2015 a man asks for a loan from his bank to be repaid in an equal premium of
LE 1800 due at the end of each 3 months. The first payment will due on 2nd of September 2020
and last payment will due on 2nd of March 2032. Find the amount of the loan he has obtained if
interest rate is 12% compounded monthly

3 - A family agreed to borrow LE 500000 at 8% compounded quarterly, the first payment will due after

three months, if the loan is to be repaid in 45 variable quarterly payments decreasing with LE 75
per quarter.

a) - Construct an amortization schedule for first year only.
b) - Find the size of the last payment.
C) — Find the outstanding principal just after the 4" payment.

4 -A LE 250000 loan is to be repaid in 8 years at 10% compounded half yearly. To be certain to have
the amount of the loan when it is due, the borrower decides to set up a sinking fund by making
deposits at the end of the first five years into an account paying 6% compounded annually.
Construct the sinking fund schedule,

Good Luck



Out-of-pocket costs relating to business combination $ 60,000

costs associated with registering and issuing common stock 45,000
Total out-of-pocket costs of business combination 105.000

The balance sheet of Future Company on October 31, 2014 as follows:

Future Company
Balance sheet (prior to combination)
October 31, 2014

Carrying | Current fair
amount value
Assets
Inventories 140,000 170,000
Other current assets 80,000 80,000
Plant assets (net) 380,000 420,000
Total assets 600,000
Liabilities and Stockholders’ equity
Current liabilities 75,000 75,000
Other liabilities 225,000 225,000
Common stock, $3 par 30,000
Additional paid-in capital 120,000
Retained earnings 150,000
T Total of liabilities and stockholders’ equity 600,000

Instructions: Prepare Egypt Corporation’s journal entries on October 31, 2014, to

record the business combination with Future Company.

Third Question: ( 5 marks)

The scparate balance sheets of Payda Corporation and Samara Company following
their business combination, in which Payada acquired all of Samara's outstanding

common stock, were as follows:
.................... Go to page 3
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1- The mean income of a group of a sample observations is $52.000, the standard deviation
is $3000. According to Chebyshev’s Theorem, at least what percent of income will lie
between $46.000 and $58.000?

2- Compute the mean and variance of the following discrete probability distribution:
X 0 1 2 3
P (x) 0.1 0.3 0.2

3- In a recent study 90 percent of the home in the United States were found to have large
screen tvs. In a sample of five homes, what is the probability that:
a) All five have large screen tvs?
b) Less than three have large screen tvs?
¢) More than two have large screen tvs?
d) At least three homes have large screen tvs?

Good Luck




Merger

Nepotism

Outsourcing

Partnership

Performance Audit

Mission

Industrial Unions

GOOD LUCK
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Menoufia University

Faculty of Commerce Level (2)
Business Administration Dept. Final Exam June 2015
Course : Human Resources Management Time : 2 Hours

Answer the following questions :

Q.1: Explain the relationship between training and the other HRM
functions. ( 5 Marks )

Q.2: Write short notes on : (6 Marks )
a) The systems approach to training
b) The advantages and disadvantages of recruiting from within

the organization.

Q.3: Write a job description for HR manager. (4 Marks

Good Luck > ' \ Y
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Menoufia University Second Year

Faculty of Commorce Time: 1 Hour for this part
Economic Department  Course of : Economic Terminology Date:\¥ [6/2015
- English Sction Final Exam 2014/2015 V(6] 1o\S
Answer the Following Questions:
Q (1) Define & Explain the following terms (concepts) Select 8 Points Only (4 Marks)

(1) Nontariff trade barriers & Nominal tariff.

(2) Free trade Area (F.T.A), (G.A.T.T), (LB.R.D), (LM.F), (W.T.0) & bretton waods system.
(3) Circular flows in the market economy. ¢

(4) Elasticity both of demand, Cross, Expendutre.

(5) Deficit in Balance of Payments, Devaluation, & Capital inflow & Outflow.

(6) Euro, Eurobonds, Euro Currency & Maastricht Treaty.

(7) Gold Export, Import Point & Accommodating, Autonomous Transactions.

(8) Arbitrage, Hedging & Covered Interest Arbitrage.

(9) (N.A.F.T.A), (E.F.T.A), Ad valorem, Specific Tariff, & Compound Tariff.

(10) Foreign debt, foreign direct Inrestments & International Finance.

Q (2) A- Define Costs Analysis, Varible, Fixed Costs, If the following table shows data of: (3.5 Marks)

[ aﬁantity Producing
Zero 10 20 30 40 50 60 70
Output (q)
Total Costs (T.C) 120 220 300 360 400 450 480 560
Price (p) 20 18 16 14 11 9 8 6

Calculate both fixed cost (F.C), Variable Cost (V.C), Marginal Cost (M.C), Average Total Cost

(A.T.V), Average Fixed Cost (A.F.C), Average Variable Cost (A.V.C), and Total Revenues (T.R),

and Net Profits (N.P).

B- Define Equilibrium market, If the D = 600 — 8 P, S = 100 + 2 P, Calculate both the
quantity & price equilibrium, and the shortage/ surplus in demand & supply in table
& figure if the price between 40:60.

With Best Wishs




Menoufiya University, Faculty of Commerce
Dept. of Business Administration

Managerial Terminologies (2™ year)
Final Exam, (2™ Semester, 2015)

Prof. Thabet A. Edrees

Explain the following terminologies in English (Please copy this table in your

Charisma

ANSWER SHEET, and then fill it in ).

Chief Information Officer
(CI0)

Civil Service Reform

Code of Ethics

Consumerism

Consumer -to- Consumer
(c2c)

Corporate Stakeholders

Core Value

Crisis

Digital Firm

Depression

E-business

Employee rights

Global Manager

Green Marketing

Host Country

Human Capital

Information Technology (IT)

Infrastructure

Job Description

Job Satisfaction

Knowledge Management

Lifestyle

P
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Faculty Of Commerce - Menoufia University |

Accounting For Partnerships Final kxam ... lst. Year |
$ i 2 Hours !

ARG RN LR RERFAERERREEERRARARRREER IRH AR AERERE AR REFLXRARERENRER

Answer The Following Questions In Full :- i

I R R SRR RN AR RS i

Q.1 Identify each of the following statement as true or false eeee
If false , indicate how to correct the statement seeececescssecs

a) The advantages of a partnership include ease of formation .
b) Mutual agency is a major advantage of the partnership .ces.
c) The net income of a partnership is taxed as a separate

entity .
d) When a partnership is dissolved, the assets legally revert

to the original contributor .
e) Upon formation of a partnership, each partner's initial

investment of assets should be recorded at their book values,

Q.2 A & B have capital balances on January 1 of £50,000 and

£40,000 respectively. The partnership income-sharing agreement
provides for (1) annual salaries of &20,000 for (A) &£ 12,000 for
(B)e (2) interest at 10 % on. beginning cabital balances , and
remaining income or loss to be shared 60% by (A) and 40% by (B).
Instructions:

Prepare a schedule showing the distribution of net income
assuming net income is £50,000 and Journalize the allocation of
net income mentioned above .

Qe3 The Best Company at December 31 has cash £20,000 , noncash
assets £100,000 , liabllities £55,000 , and the following
capital balances :(X) £45,000 and (Y) £20,000 . The firm is
liquidated, and £110,000 in cash is received for the noncash
assets . (X) and (Y) income ratios are 60 % and 40% respectively.
Instructions:Prepare the entries to record ;

(a) The sale of noncash assets .

(b) The allocation of the gain or loss on liguidation to the
partners .

(c) Payment of creditors . )

(d) Distribution of cash to the partners .

Qel4 (A) & (B) share income on a 6:4 basis. They have capital
balances of £100,000 and £70,000, respectively, when (2Z) is
admitted to the partnershin o
Instructions:

Prepare the journal entry to record the admission of (Z)* under

the following assumption .

e Investment of £ 90,000 cash for a 30 % ownership 1nterest
with a bonus to the existing partners .

Q.5 (X) & (Y) & (2Z) are partners who share profits and losses
50% & 30% and 20%, respectively. Their capital balances are
£100, 000 , £60,000, g 540 000 , respectively .

Instructions : Assume that (X) leaves the partnerskip. (X) 1e
paid £120,000 with a bonus to the retiring partner,
Prepare the journal ‘entry to record (X)' withdrawal

All the best .,
Prof, Dr. R.A.Radwan

Dr-M-kahdan



Faculty Of Commerce - Menoufia University :
Accounting For Partnerships Final kxam .. lst. Year
| 2 Hours

ERERRCEAR T RE R L R IR TR AR BRRRRRR AR AR ERRER TRE AT RA AR R ERRRAEFLRRRT AR RRRS
Answer The Following Questions In Full :-
R R R R RN R R NN R S I R N SR AR AR RS
Q.1 Identify each of the following statement as true or false eess

If false , indicate how to correct the statement seeeceesecssess

a) The advantages of a partnership include eass of formation .

b) Mutual agency is a major advantage of the partnershid .eee.

c) The net income of a partnership is taxed as a separate
entity .

d) When a partnership is dissolved, the assets legally revert
to the original contributor .

e) Upon formation of a partnership, each partner's initial

{
i

investment of assets should be recorded at their book values.

Q.2 A & B have capital balances on January 1 of £50,000 and
£40,000 respectively. The partnership income-sharing agreement

rovides for (1) annual salaries of £20,000 for (A) £ 12,000 for

?B)- (2) interest at 10 % on beginning canital balances , and

remaining income or loss to be shared 60% by (A) and 40% by (B).

Instructions:

Prepare a schedule showing the distribution of net income

assuming net income is £50,000 and Journalize the allocation of

net income mentioned above .

Qe3 The Best Company at December 31 has cash £20,000 , noncash
assets £100,000 , liabilities £55,000 , and the following
capital balances :(X) £45,000 and (Y) £20,000 . The firm is
liquidated, and £110,000 in cash is received for the noncash

assets . (X) and (Y) income ratios are 60 % and 40% respectively.

Instructions:Prepare the entries to record ;

(a) The sale of noncash assets .

(b) The allocation of the gain or loss on liguidation to the
partners .

{c) Payment of creditors . <

(d) Distribution of cash to the partners .

Qo4 (A) & (B) share income on a 6:4 basis., They have capital
balances of £100,000 and £70,000, respectively, when (2) is
admitted to the partnership .

Instructions:

Prepare the journal entry to record the admission of (2)\ under

the following assumption

e Investment of £ 90, 000 cash for a 30 % ownership interast
with a bonus to the existing partners .

Q.5 (X) & (Y) & (2Z) are partners who share profits and losses
S50% & 30% and 20%, respectively. ''heir capital balances are
£100, 000 s £60,000, & £40 000 , respectively .

Instructions : Assume that (X) leaves the partnership. (X) ie
paid £120,000 with a bonus to the retiring partner.
Prepare the journal entry to record (X)' withdrawal

All the best .,
Prof. Dr. R.A.Radwan

Dr- M-wahaan



Agalall e gusgall (30 B2aly o) malad) 3350l 2] g UL askh ) Jlay aaf (£

AN Cle guagall A §paida cl)Sie o) W Jlgandl
il o ggiad Aalisal) i) ()
slamiall ayaall gl alas JSa (Y
s A el pealic s g s Calaal (¥

ol gl bl ol

A 2 ol Je sl
Gyt caad) is Ye >

e \0fo v\




Asdlall Sepeagall o 52aly o2 Aaalal) 3350 sl g UL agi )l aa (¢

P cle guagall (B §jualia cfSia o) ¢ EUWI Jlganl
sl o ggial dilidal) il gisall ()
slatiall gl il alas JSaa (Y
s Al pall paalicy gy sl Calaal (¥

gl sl St
M Ll e o]
et ciaad) is Yo s

e<AB[a | ¥\




1- What is the pricing strategy the company is applying?
2- What other pricing strategies can the company apply to sell the new product?
3- What are the main external factors that affect pricing decision?

Third Question: (6 Marks) Write short notes on the following topics:

1- Advantages and disadvantages of cost-based pricing
2- Importance of marketing logistics.
3- Steps in developing effective marketing communication plan.

Best Wishes
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